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VERSION 972 -- fepatures added or cHanged since Swyftcard version B20.
Jonathan Sand .and Dave Lavond
I0 AUBUST 1985 R

New key locations

Thare are now only five commands. They are ascsigned to new k

m
~
w

Control key Koutine
insert
Send
Calculate
Print

Disk

— Z gy 2 o

Creeper cursor

i+ there is no seiection, pressing (and letting go of) the left leap key will
move cne character to the left; pressing {(and letting go of) the right leap key
will move one character to the right. This is fondly called creeping. I¥
there is a selection, pressing the left leap key unhighlights the text and
leaves tne cursor at the left end of the selection nressing the right leap key
unhighlights the text and leaves the cursor at the right end of the selection,
Creeping is useful for adjusting the size of the selection. Creeping always
igaves {he vuorsor ceilapsed. Creep 1s as fast as pessibie.

Leapin
I4 you already have 2 s=lecticon and you start Leaping lz=ft, the cursor will now
land on & pattern within the selection first, 2z oppecsed to after sexnausting
the locaticons of that paitern putside the szelection.,

Leap will not miss pattern characters even 1t vyou type fast in a large text.

Care must be taken now to make sure that you hold the Leap key down until the
pattern is found or else the last character or two will be inserted into the

text.

Leaping is very fast. Try it,

Word Wrap

f# word at the right end of the screen will wrap to the next line if 1t is
followed by two spaces, when there is only room for one or none. A third
=pace, however, will wrap to the #fcllowing line. >

I

“RaskinDoc053_1.PICT” 201 KB 2000-02-22 dpi: 400h x 400v pix: 2734h x 3852v

| Source: David T. Craig Page 0002 of 0008 |




Jef Raskin Document # 053

Disk

The Disk command will always save the text to disk no matter what change or
lack af change has been made to the text.

You tan now visually tell that you have saved a text. The rate at which the
cursor blinks is doubled after a save. It slows back to the normal rate after
you add or delete characters.

The Get command 1s no longer.,

Drag forward has been added. 7To use Drag forward, the current text is saved
using the Disk Commanc., The passage of text to be copied to anothe
celected, the destination disk then inserted in the drive, and the Di
vsed, The appearance of the Swyftcard message indicatesz that the =el
being Dragged. The selected text will be inserted into the destinati
where the cursor had been when the disk was saved. This final text ¢
saved to the disk with ancther Disk command,

The Disk command is now faster because it removes the gap prior to saving the
text and restores the gap when loading text. Only the text is placed on the
disk. This means that text made with previous versions cannpot be accessed by
the Disk command., Instructions for updating old text will be available.

The Prolos conversion disk is now available,

f th
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xt 1s empty and an Apple disk is in the drive, then the Disk command
it

cr oo
-
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After using an Apple disk, Swyftcard can be rebooted by placing a text disk in
the drive and pressing the cortrol oper-apple and reset keys,

Reasszignable keys

All control keys {alphabetical, *, -, 1, and \) can be aszsigned to 2xecute ccde
at any address. Multiple keys can be a2ssigned teo a single routine. The code
must be in the high 64K bank when using the Disk based versiaon, and in the law
44K in the Rom based versien. A Magic number in key translation table, when
modified, reassigns all keys to their original routines. There are extensive
instructions later in this handout. The addrecs of the bottom of the text area
can be adjusted up or down within the decimal range, 3632 to -19737, by using
BRSIC to store this value in BTL. The algorithm which moves the text will
neither destroy text nor set the bottom too low. GSee the instructions which
follow.
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Insert

When text is nearly full and the user Inserts enough text to fill all available
space then the system inserts the text, empties the cut buffer, and beeps.
Further attempts to Insert will cause a beep because the cut buffer is empty.
Insert is now faster.

Send

A user can tell if the text he is sending over a modem is beipg received by a
Swyftcard by =sending cantrol-7 control-C: the receiving Swyfitcard responds with
the message "SWYFT", preceeded and followed by carriage returns,

Co e the receiving user to hear one
na

ntrol-6 received over the modem will
21l

rap
no character is enterad into the tex

rom

A line feed or carriage return or both can ke Sent by using the BASIC variable
LE%Z. Add the first character to 256 times the second character. A carriage
return (13) and the line feed (10), yields LE%=2573. The default is -1.

When a character is received and the text is full, the bell rings until the
delete key is pressed.

You can now Send at 152,600 baud'! Unfortunately, text is received and display
at only 4,800 baud, because the receiving computer must update its screen. The
baud rates and the aszcscociated value of SEXL are tabulated here:

baud SE% value
00 .
1200 e
2400 .
4800 [
QEO0 'ea
19,200 .
153,600 -

-
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~Print

The page length can be changed with the BASIC variable PLY%. Swytfcard makes
sure that PLY is big enough for a top (AB%Z) and bottem (BEX) margin and at
least one line of text.

The maximum number of pages was 125; it is now 200.

Underlining is now available., It is togoled on and off in the text by the
underline character. The underline character is not printed; a cspace is
substituted for it in the printout. Underlining is also turned off by a pair
of carriage returns or by a pagebreak ({(actual or implied}). A string of
underlinss is printed as a sclid underline, except that the first and las
underline are, for consistency, printed as blanks,

The BASIC ctrings US% and UE$ are passed to the printer to turn underlining on
and off, respectively. The user customizes them for their own printer. Thaey
can be up to S characters each., The first element in UE$ is a group flag. if
each character is individually underlined, by backspacing, then the group flag
should be set to CHR$(0). If underlining is done automatically by the printer,
set the group flag to CHR$#(1), as with the EPSON.

US$=CHR$(27)+CHR% (43) +CHR$ (49) default {(for the EPSON printer)
UE$=CHR$ (1) +CHR$ (27)+CHR$(43) +CHR$ (48)

US+=CHR$(S5)+CHR¥{8) {for opiher printers)
UE$=CHR$ (D)

EASIC

The BASIC commands RUN and NEW now delete all user strings except printer
ctrings for initiali:zation, underline on and underline off. If you have
configured for your printer, RUN and NEW will no longer return you ftc the
default printer configuration' You no longer have tp use BOTO to aveid this.

A BASIC program which reads or writes Swyftcard variables or strings must be
executed with a BOTD statement. RUN clears all pof the variabies and strings.

A handy BASIC command to cbserve the contents of strings is the following, note
the *,I," in MID$. For example, substitute PR$ for string-name$ below to see
the string used for printer initialization:

FOR I = 1 70 LEN(string-name#) : ? ASBC{MID#istring-name$,I,1}) ¢ NEXT I
The default BASIC strings, for the EFSON FX-80 printer, are:

PRE=CHR$ (0) +CHR$ (0) +CHR$ (5) +CHRF(27)+CHR$ (77 +CHR$ (27) +CHRF (10B) +CHR%(8)
US$=CHR$ (27)+CHR¥ (45) +CHR$(49)

UE$=CHR$ (1) +CHR$(27) +CHR$(45) +CHRF (48)

For other printers, the underline strings that will always work are:

US$=CHR$(95)+CHR$(8)
UE$=CHR%(0)
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Reassigning the Key Commands

All control keys execute a SwyftCard command. They can be reassigned with
simple BASIC statements. The tommands are executed through two-tables, the
translation and execution tables, at decimal 5536 and 5568, respectively. As
only some of the Enqtrol keys are assigned, both tables are only sparsely

populated:
Control Translation Execution Execution Name of RFgutine
Char ASCII Table address Index Table Address Routine fddrecs
Delete 0 353 1 5570 DELETE 98263
A 1 5337 7 5382 FASTE SB&22
D 4 340 5 5578 EEND 59859
B 7 5943 8 TIR4 RASIC AIZLO
Tab,! g S545 27 5522 TAR 98457
L 1z 5548 4 3376 LISK 64854
N 14 3546 2 5572 PRINT 60745
Z 26 5562 12 5392 CONTROL 59817
Escape,[ 27 S563 28 5624 ENTER 38444
0 o568 NOOP S4607

29 5626 magic # 12B53

{ 2z 2 4 3 b 7
The control key {column ) is received, by the SwyftCard, as its ASBCI!

value (ccluma 2).  This value is first converted to an index {column 4} by
using the value as an offset into the translation table {(column 3). BSince esach
element in the execution table is 2 bytes, the index is doubled to use 2t an
offset inta the execution tablie to yield the table address (column 5)
containing the execution addreszs of the routine (column & and 7). All values
in column 7 change with zach varsion. Cantrpol keys net included in the above
table have been assigned an index of O which executes NDOF. Uninclucded indices

alsp execute NDOF.

S0, when you press the control N key, ths Swyftcard ceonverts it to an
index of 2, which it got from location 5546. The index is used to locate, at
5372, the address of the PRINT command, which is executed.

Since these tables are located in KAM, their values can be modified ¢
to reassign keys to new commands. For instance, control P can be aszigred
also execute the PRINT command, in addition to control N. Alternatively,
control P can be reassigned to a custom program you write that, say, replaces
one word with another (actually not impossible...), or that does a Sort.

ca
to

At the end of the execution table there is a magic nuamber, related %o the
version number. If this number is changed, the table will be reinitialized,
either after a BASIC command, or after pressing centrol Reset.
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So, i1f you want te assign that control P key to the print command, you
place, using a -BASIC statement, the index of the print command, 2, into the
16th position.(control P) past the beginning of the translation table:

75536+16 = 5552
Try changing it and using the contrel P key:

POKESSSZ,2

On the cther hand, if vou want to assign the control F key to 2 co
new routine, you must find an unused index, say 10, and store that at £

FOKESS32,10

At this point, since the index 10 is assigned toc a NOOP, the contrel P key

will .once again be inert. To assign index 10 a routine, you must store the
address in the 10th 2 byie position past the beginning of the sx=scution table:

T2#1045568 = SG5EB

Let's store the warm start routine (53740), Since the POKE command only
stores a byte at a time, we have to figure out the value of the high byte and
the low byte, The high byte is highest integer lower than IIZ760 over 2Z6:

FOKESSEE, O {low byte)
FOKESSES,210 {high byte)

The Get command can be reassigred to the contrel R key., The Get routine
is at 63398; the high byte is 248, and the low byte is 110. The control key i1s
already assigned an index of 4. The execution table location far this index is
5580. The BASIC statement is thus:

FOKESS80,110:POKESSE1,248

If you make a mistake, you can force the Swyfifcard to reinitialize the key
command tables by storing a zero at location S5é26:
FOEESE2E,0

Remember not to reassign the key that performs BASIC without first
assigning another key to it...

I
=]
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This BASIC program will print the current key assignments. Below it is
its output. May all of your reassignments be good ones,

¢

10 ?:?"ASC trans index exec routine®:?
20 FOR I = 0 70 31

30 A=5536+1

40 B=PEEK(A)

S0 C=5568+(2%B)

A0 D=PEEKA(C)+{2CA¥FEEK(C+1))

70 Iy "3
8¢ 242" "3
90 ?H;:?" "3
100 2C;: 7 "3
110 7D

120 NEXT

130 END

ASC trans index exec routine

0 553 1 5570 58263

i 5537 7 5582 58422

2 5538 0 5548 54607

I S539 0 5568 54407

4 5S40 5 5578 59859

S 5541 0 5548 54607

& 5542 0 5328 54407

7 5543 8 5S84 4I510

8 5544 0 SS6B 54607

9  ©545 27 5422 SBAES

10 5546 0 SSEB 54407

11 5547 0 5368 54607

12 5548 4 E376 44854

13 5549 29 5826 {2835
14 5550 2 5572 60745

5 5551 0 5568 54607

16 5552 0 5568 54607
17.0, 5553 -~ 0 . 5568 54607
18. S554 0 5568 54607

19 5555 0 5568 54407

20 5556 0 S54B 54407

21 5557 0 5568 54607

22 5558 0 5368 54607

23 5559 0 5568 54607

24 5560 0 S548 54607

25 s561 0 5568 54607

26 5562 12 5592 59B{7
27 5563 28 5624 5B4hs
28 5564 0 5568 54407

29 5565 5586 55976

9
30 5566 3 S974 34607
2 2567 11 33990 34807

S~

END

——————
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